I]'2g4e}//:dnyuonewoul [ealuydal
ny 11aqey//:dnysai

NLH0430/0430Rp ullleg-

ap’uleg-ny 11°10j02//:dny 10 ap'u

httE)://farbe.Ii.tu-berlinL.de/CEROICEROLBNA.TXT /.PS; or;Iy vector graphicMVG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log[sensitivity]

l0gVo = ~0,35[1,~Uss7]2
logVa=logV, +0,00
log Vo, /-]

=log +0,02
=log' ' +0,02

Ma La U =(\-550)/50

log[saturation] log

logVo = —0,35[)~Uss7]2 log

logVa=logV, +0,00 log

log [Vo/Vo, Vo, Vo] [o]s]
Ma L

-0,35U\-u ]
-0,350\-u ]2
=log +0,02
=log// +0,02
saturation V

7 NS LM adaptation
L \\ =111  L&M: 557
; ~ g0t
] Lo=-0,02 La=-0,&
1
1

V=-0,00 Va=-0,&
Mo=-0,02 Ma=—0,&

=il 3 u -3

545, 0 570,

1 L:M EGEIEGRN]

=1:1 L&M: 557

!
545 574 2 4

500 550 600Ad/nm 700xc 400

log[sensitivity] log

logVo = -0,35[,-Uss]2  log
=-0,35U,-u ]%+0,02log =log +0,02

log'/ . =log '/ +0,02

u)=(A\-550)/50

L:M:S adaptation

=1:1:1 1.&M: 557

-0,35ly-U ]
-0,350)-u ]2

Vp=-0,00 Vg =
Mo=-0,02 Ma=-0,
Sp =-1,77 Sg =-1,7

3 u -3

500 550 600Ad/nm 700xc 400

log[saturation] log

logVo = —0,35[1)~Uss7]2 log

log =-0,35u\-u ]%+0,02log

log [Vo/Vo, Vo,I-/Vo, Vo] log
Sa Ma La

1

-0,35U\-u ]
-0,350\-u ]2
=log +0,02
=log// +0,02

saturation V
' L:M:S adaptation
- =1:1:1 1.&M: 557
1 ts=0.1

) oIz
15 _ 545, 574

T
1 1
1 1
1 1
e —

1 1

1

1

3 u -3

log[sensitivity]
logVo = —0,35[1~Uss72
=-0,35U)-u ]%-1,17log
log'/ =log
Ux=(A-550)/50

=log +0,17
-0,13

500 550 600Ad/nm 700)c 400

log[saturation]

logVo = —0,35[1)~Uss7]% log

log =-0,35u\-u ]%-1,17log

log [Vo/Vo, Vo,I-/Vo, Vo] log
Sa Ma La

=log
=log'.-0,13
saturation V

a
N L:M:S adaptation
\  =16:8:1 L&M: 557

1

1

' t=0.1

] ~ S

1 Lo=-0,02 L3 =0,13
[] Vp=-0,00 Vg=-0,0
1 Mo=-0 22 Ma=-0,17
1 1 | Sp = -1,77 Sg =-2,¢
1445 _p45) 157 Va

' L:M:S adaptation
=16:8:1 L&M: 557

1

1
B 1

1
—
L
1445 __1545:0 570, P

3 u

500 550 600Ad/nm 700xc 400

log[sensitivity] log
logVo = -0,35[1~Uss7? log
=-0,35U)-u ]%+0,02log =log +0,17
log'/ .=log -0,13
u\=(A—550)/50
L:M:S adaptation
=4:2:3 1.&M: 557
t=0.1
i
Lo=-0,02 L =0,13
Vp=-0,00 Vg=-0,0
Mg=-0,02 Ma=-0,17
So =-1,77 S =-1,7
3 u -3

=-0,35u)-u ]
=-0,35,-u ]2

~

500 550 600Ad/nm 700)c 400

log[saturation] log =-0,35u\-u ]
logVo = 0,350, ~Uss72 log/ = —0,350\—u- ]2
log =-0,35U\-u ]%+0,02log =log +0,17
log [Vo/Vo, /Vo,|-INo, No]log'' =log!' -0,13
Sa Ma La saturation V
L:M:S adaptation
=4:2:3 1.&M: 557

) v Iz
_1fs 1445 548 Ty o

400 500 550 600Ad/nm 700)c 400

lin[sensitivity]

l0gVo = ~0,35[1,~Uss7]2

logVa=logV, +0,00 =log +0,02

=log! +0,02
u\=(A\-550)/50

lin[saturation]

logVo = —0,35[1,~Uss72 log

logVa=logV, +0,00 log =

[VolVo, Vo, /Vo)] log'/ =log' +0,02
M

EGETJEL])

L0=095 La=0.95
Vo=10 Va=10
M0=0.95 Ma=0.95

3 u -3

L:M EGETEN]
=1:1 L&M: 557
1 t=0.1

W— —— —  — — — e — —

a La saturation V
1 1
1 1
1 1
1

10
54519 574 2y 3

lin[sensitivity]
l0gVo = ~0,35[1,~Uss7]2 log
=-0,350)-u ]%+0,02log =log +0,02
log'' =log'/ +0,02
uy=(A-550)/50

500 550 600Ad/nm 700xc 400

-0,35\-u ]
-0,350)-u- ]2
=log +0,02
=loc ' +0,02
saturation V

lin[saturation] log

logVo = -0,35[,-Uss]2  log

log =-0,35L\-u 1%+0,02log

[Vo/Vo, Vo, '-INo, Vg log
Sa Ma La

L:M:S adaptation
=1:1:1 L&M: 557
557:t§0.l
Lo=0.9> La=0.95
Vp=1.0 Va=1.0
Mr-0.95 Mg=0.95
_=0-=0.02. Sq =0.02

3 u -3

' L:M:S adaptation
- =1:1:. L&M: 557
1 t=0.1

1
1
B 1 1
7 1
gy
1 1
1 [ I |
1 LI |
1 L
B :445 _154.,:0 =75 T

lin[sensitivity] log =-0,35u\-u ]
logVo = —0,35[1)\—U557]2 log'/'o=-0,35)\-u ]2
log =-0,35U\-u ]?>~1,17log =log +0,17
[Vo, ] log'/-=log!/.-0,13
" NVa La uy=(A-550)/50

400 500 550 600Ad/nm 700xc 400

lin[saturation] log

logVo = -0,35[,-Uss]2  log

log =-0,35L\-u 1%-1,17log

[VolVo, INo,':INo, Vg log :
Sa \YEY saturation V

L:M:S adaptation
i\ =16:8:1 L&M: 557
; \ 557:t§0.l
: \ Lo=0.95 La=1.34
1
1

Vp=1.0 Vg=1.0

AN Mp=0.95 Mg=0.67

570, S~ =—50=002- Sa =00
Ly o u -3

‘Y :

' :M:S adaptation
- =18:2:1 1 &M: 557
‘ t=0.1

1
1
1
1
—
(] (]
2 1
1 1
1

445 545! '570
k3 ! -1 - L

W 3 u

500 550 600Ad/nm 700Ac 400

lin[sensitivity] log =-0,35u\-u ]

logVo = —0,350)~Uss7]? log'/ = —0,350)~u- ]2
=-0,35U)-u ]%+0,02log =log +0,17
log'/'.=log'/ -0,13

Va La u=(A-550)/50

500 550 600Ad/nm 700xc 400

lin[saturation] log

l0gVo = ~0,35[1)~Uss]? log

log =-0,35L\-u 1%+0,02log

[Vo/Vo, Vo, '-INo, Vg log
Sa Ma La

=-0,35)-u ]
=-0,35,-u ]2
=log +0,17
=logc . -0,13
saturation V

78 'M'S _adaptation
10\ =4:2:3 L&M: 557
‘ \ 557:t§0.1

Lo=0.9> La=134

\ v?,::.o v:=1.o

Mr-0.95 Ma=0.67
o=l 02 Sg =002

Y 3u -3

1 [ 1:M:S adaptation
. S =4.2:1 | &M 557
1 o1 ts=0.1
=
(] 1
1
B 1
1 >~

or' 3 u -3

L~ l54::

445

500 550 600Ad/nm 700Ac 400

CERO1-7N

400 500 550 600Ad/nm 700xc 400

TUB-test chart CERO; Retina—cone ratio L:M:S—>L/V & M/V & S/V, lin[thresholds]=0 & 0,10

Q
=)
=5

=5

=

o

=]

—

o

=

@D

<

L

c

2.

o

=]

Q

>

o

3

®

QD

0

c

=

®

3

D

>

—

o

=

Q.

n
=3

Q
<

o

=

Sd’/ LX1'¥YN010430/043D-T0€0220¢ uonensifal gn L

9po09 :Jeudrew gN.L

Yi=




